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namespace All.Tests

{
[TestClass()]
public class GradedTests
{
[TestMethod(), Timeout(2600)]
[DeploymentItem{"TestData™, "All_TestData™)]
— references | Sauleh Eetemadi, 2 days ago | 1 author, 1 change
public void SolveTest()
{
Processor[] problems = new Processor[] {
new BinaryTreeTraversals("TD1"),
new IsTtBST("TD2"),
new IsItBSTHard("TD3"),
new SetWithRageSums("TD4"),
new Rope("TD5")
b5
foreach (var p in problems)
{
TestTools.RunLocalTest("A1l", p.Process, p.TestDataName);
}
}
¥
}
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using System;
using TestCommon;

namespace All
{
1 reference | Sauleh Eetemadi, 2 days ago | 1 author, 1 change
public class BinaryTreeTraversals : Processor
{
0 references | Sauleh Eetemadi, 2 days ago | 1 author, 1 change
public BinaryTreeTraversals(string testDataName) : base(testDataName) { }

1 reference | Sauleh Eetemadi, 2 days ago | 1 author, 1 change
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long[][], long[][]>)Solve);

1 reference | Sauleh Eetemadi, 2 days ago | 1 author, 1 change
public long[][] Solve(long[][] nodes)

{
return new long[][] { };
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using System;
using TestCommon;

namespace All

{
1 reference | Sauleh Eetemadi, 2 days ago | 1 author, 1 change
public class IsItBST : Processor
{
0 references | Sauleh Eetemadi, 2 days ago | 1 author, 1 change
public IsItBST(string testDataMame) : base(testDataName) { }
5 references | Sauleh Eetemadi, 2 days ago | 1 author, 1 change
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long[][], bool>)Solve);
1 reference | Sauleh Eetemadi, 2 days ago | 1 author, 1 change
public bool Solve(long[][] nodes)
{
return false;
}
}
}
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using System;
using TestCommon;

namespace All
{
1 reference | Sauleh Eetemadi, 2 days ago | 1 author, 1 change
public class IsItBSTHard : Processor
{
0 references | Sauleh Eetemadi, 2 days ago | 1 author, 1 change
public IsItBSTHard{string testDataName) : base(testDataMame) { }

5 references | Sauleh Eetemadi, 2 days ago | 1 author, 1 change
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long[][], bool>)Solve);

1 reference | Sauleh Eetemadi, 2 days ago | 1 author, 1 change

public bool Solve(long[][] nodes)
{

return false;
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“+ 1” means add((i + x) mod M)
“- 17 means del((i + x) mod M)
“? 1” means find((i + x) mod M)

“s 11”7 means sum((1 + x) mod M, (r + x) mod M)
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sum(1,2) — 3
add(2)

find(2) — Found
del(2)

find(2) — Not found
sum(1,2) — 1
del(3)

find(3) — Not found
del(1)

add(10)

sum(1,10) — 10
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using System;
using TestCommon;

namespace All

{
public class SetWithRageSums : Processor
{
public SetWithRageSums(string testDataMName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, ( < [1, [ 1>)Solve);
public string[] Solve(string[] nodes)
{
return new string[] { };
F
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using System;
using TestCommon;

namespace All

{
1 reference | Sauleh Eetemadi, 2 days ago | 1 author, 1 change
public class Rope : Processor

{
0 references | Sauleh Eetemadi, 2 days ago | 1 author, 1 change
public Rope(string testDataMame) : base(testDataName) { }

5 references | Sauleh Eetemadi, 2 days ago | 1 author, 1 change
public override string Process(string inStr) =>
TestTools.Process(inStr, ( <string, long[][], string>)Solve);

1 reference | Sauleh Eetemadi, 2 days ago | 1 author, 1 change
public string Solve(string text, long[][] nodes)

{

return null;
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